LYNX MANUAL DOC .REV .A 24-07-2015

LX1614 180CFX - CNC ALUMINUM FRONT BOOM MOUNT - SILVER
LX1615 180CFX - CNC ALUMINUM FRONT BOOM MOUNT - RED
LX1616 180CFX - CNC ALUMINUM FRONT BOOM MOUNT - BLACK

—
.

STEP 1 STEP 2 STEP 3 STEP 4 e
DR1661 . MR682 MR85-W2 ‘
180 CFX - Main boom clamp lRodiol bearing 2.5x6x1.8 Radial bearing 5x8x2 DR1742
= 180 CFX - Pin
&-F—— Loctite 648 Loctite 648 Boom clamp
- | | DR1665
' : 180 CFX - Left boom
‘ _/J\O\CTHe 648 “ ; clamp
& . r /\ Press punching
DR1575
Shim 5.1x7x1 ]Dg%‘ ?:6& - Lower boom DR1662
2 X MR85-W?2 clamp 1§gr%FX - Upper boom
Radial bearing 5x8x2 P
STEP 5 STEP 6 STEP 7
2 X TCEM1.6X4
Hex cup screw M1.6x4
Note: Loctite 242 after Install counter shaff)
5 x TCEM1.6X4
Hex cup screw M1.6x4
(Loctite 242)
! lSTEP 3
1
W
DR1664
STEP 2 180 CFX - STD Tail
* Counter shaft servo support
DR1666 ,

180 CFX - Right Boom
clamp

STEP 4

TCEM1.6X8
Hex cup screw M1.6X8
Note: Loctite 242 after Install the boom

2 x TCEM1.6X4
Hex cup screw M1.6x4
(Loctite 242) ~—STD Tail servo
~——DR1769
180 CFX - Tail servo
case stiffener
2x TCEM1.6X5

Hex cup screw M1.6x5
Note: Loctite 242 after install STD tail serv

HELI INNOVATIONS




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10


